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TEST |
GENERAL AWARENESS

Q1. Which of the follipwing agencses/organisations has put economic sanctions on Syria 7
1] CPEC 12) NATOC id] World Bank 4] Europaan Union (5} G-8

az Who among the following was elocted unanimously as tha Secretery General of the UNO for the
gacand tarm ?
{1} Ellen Johnson Sirkeaf {2) Melson Mandela {3} Hillary B Ciinton
{4) Jacob Mathew {5) Ban-ki moon

Q.3 International Alomic Energy Agency (IAEA] has decided to begin Mew Round of Negctiations with which
of the following nations as it is not satisfied with tha previous rounds of discuseions 7
(1) Iraqg 2} India {3) Japan {4) Iran {5) Germany

Q4. As decided by UNESCO tre 'Intermnational Literzcy Day' is observed on which of the following days

every year 7
{1} Bth September {2) 13th March [3) 28th March {4) 18th Sepfembar (5} Wone of these

Q5. As per decision taken by the European Unien and IMF, which of the following countries will recelve a
fresh assistance of 100 bllion Euro by the year 2014 7
{1) laly (2) Greece (d) Porugal {4 Spain {5) Ealgium

6. *Howvada' a town in Andhra Pradesh was in news meontly as ——
{1} anuclsar plant is baing devaloped there
{2} Maruti has decided o build a small car plant thers
(%) RBlis going to establish a Mew Mote Printing Press thero
(4] an earbguake Rt the town in which 1ot ot people disd
(5) it is the place solacted ‘or developing a new Space Resaarch Cantra

Q.7 Which of the following is India's new rating index developed by Ministry of Finance #
{1} CECA () CRIS (3} SENSEX {4) TIEA {5) ATGS
Q.8 Very offen we read terms ‘Perform, Achieve and Trade” (PAT) in newspapersimagazines these days.
PAT is related to which of the following fields *
(1) Frengy Fiicienmy {2) Indira Awas Yojana (A} Bdic Day Meal Sobame
(4) Bharat Mirman (5} Mational Odd Age Pension Scheme
Q.8 Which of the following oreanizalivns/agencies has decided o esablish & Naliona Innovation

Foundation (MIF) ‘o encourage earfy stage innovations in India ?
{1} Univarsity Grants Commission
{2} Confaderation of Indian Incustry (G
(%) Depanment of Science & Technalogy, Govemment of [ndia
(4] Atornic Energy Commission (AEC)
(5) Council far Incustrial and Scientific Research (CSIR]
a.10. Which of the toliowing sountries is irying to gst membership of European Union 2
(1} Myamrmar (2) Brazl (3} Croatia 4y Italy (5] South Alrica

a.1. The Genaral Elections took olace in which of the following countr e in January 2052 in which Muskim-
Bratharhond party won with crushing majority 7

(1) Lebanon - (@) Libya {3) Syria (4} Egypl (5} lran

.12, Web based complaints radressal systam "SCORES' i launched by which of he fallowing organizations
agencizs ¢
(1} Ministry of Corporate Affairs (2} SEBI (3) &bl

{4) State Rank of India (5] 1BA
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Which of the bllewing countrias has decided to frae polilical priscrers and pardon them as a measurs
I adapl democralic reforms ?

{1) Myanmar {2) Bangladesh 3 Mali (4] Afghanistan (5) Sri Lanka
Which of thea fallowirg books is writtzn by Satish Gujral 7

(1) A General and His Ammy (2} ABendin the Fiver (3} A SecularAgenda

(4) A Brush wih Lifa {&} Best and 1he Brightest

Gri Jatin Das who was awarded Padma Bhustan in January 2012, is a lamous

{1} Painter (2} Cine actor {3) Film Director  {4) Sporisman (5) Social Workear
Tha econamy In which thare 15 8 maguse of publle sector and private sector both, IS called

(1) Closcd coonomy (@ Mised sconomy () COpen econamy

{4) Frec trade economy {5) Publ coonomy

Asian Development Bank (ADB) has agreed to give a loan of US § 500 milkon to India to conatruct
which of the foflowing 7

{1) Raads in Naxal hit arezs

(2} Raltlway Irack In Morth Eastam states

(3} Rallway phataks &t unmanned croseings

(4} Six bridges over niver Kali which & known as "Sorrow of Bihar'

8] School buildings in villages of Odisha

Robert ROTE O Erglans recently wormam imermeEtiems spors evant neld in Abu Dhabi. He is & well

knawn
1) Golf piayer (2) Badminton playaor [3) Lawn Tennks player
4} Tabde Tennis player (5} Chess playar

Which of the following feams waon the Ranji Trophy Final played in January 2012 7
{1} Tamil Maru (2} Punjab [3) Maharashtra {4} Hajasthan [5) Haryana

Ag per naw egtimate whal is per capia income in india ¥ (per annum)
(1) % 30,000~ (2) ¥ 40,000/-

(3 More than T 50,000/ but less than T58,000~  [4) T 60,000/

(5) More than ¥ #8000/ but lass than ¥ 1 Lac

The Resenve Bank of india does NOT dedide the ——
(1) Rate of Aepo amd Reverse Aepa (2) Marginal Stancing Facilily Rates
{3} Bank Rate {4) Rate of Deamess Allowance to Gout, Employsas

(5} Statutory Liquidity Ratio

What doos the lotter P denote in the tenm 'FAN a8 used in financlal iransactions 7
(1) Primary {2} Partial {3} Permanent (4] Provisional 8 Public

Dariel Ofega ‘s the prasent Prasident of ——
[1) Morway 12} Micaragua {3) Thailand (4] Belans {5} Mona of thasa

Which of the fellowing films was adjudged Best Film at the 57th Filmfara Award Function: held n
Janary 20727

(1] Dirty picture 2} Rock Star (3 Stanley Ka Dabba

{4] Cion 2 {5) Zindagi Na Milegi Dobara

Whizh of the following nations has said that it wiil bock Stralt of Hormuz if provenied from sals of oil

and petrodeum to other counires 7
(1) Irag 2} Kuwait (3) Oman (4) SaudiArabia  {5) lan
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Thomas Cup is associaled with tha game of
(1) Golf [2) Crickst {3) Bagmirton {4) Faotball {5) Lawn Tennis

MCX ks the indox of which of the following slock cxchanyges of India ?
(1} Malional Stock Exchange {2) Bombay Slock Exchange =1 Dalhi Stock, Exchange
(4] Kokala Stock Exchange {5 Mutti Cormodity Stock Exchange

ha Ying=jeou is the present President aof

(1) Thadand {2} Heng <ang () Taiwan (4) Myanmar {5) FRi
Which of the following is the currency usod in Brazg ?

(1) Dolar {2} Eung {3) Real i4) Pagen {5) Franc
Which of the following will be the wenue of the Warld Athletic Championship to be organized in 2017 %
{1} Tokyg (2) Parig {3 Maw York {4 Lordun (5} Murnbei
¥ihich of the lollowing berms is used in Botany 7

{1) Recassinn (2) Dumping () Barter Syatem (4] Cartel (5] Hignnial
‘Mirmal Gram Furaskar’ is an incentive to promots

{1} Good atlendancein schools {2} Total Sanitztion in Villages

{3} Froo and Compulsory Educalion (£} Awareness lowaris wormen Empowerment
{51 Al of these

¥Which of the follomdng (s NOT 2 Financial InstitutefAgency

(1) IRDA () BGO {3 FRSE (4] SERI [5] CAls
Which of the following books is written by Chetan Bhaga: 7

(1) A Genaral and His Ay {2) A Possible Incia (3) Bitter Sweet

[4) Chira Passage {9) Revolution 2020

Which of the fallawing is NOT a lamous cricket grouna/stadium for intemalion al matches 7

{1] Eden Gardens {2) Green Park (3) Wankhade Stzdium

4] Chepauk Stagium {5} Jantar Mantar Ground

Which of the following combinatons of players and the games they play is NOT carrect ?

(1) V¥ 5Lawman — Crickot (&) Szina Mehwal — Badminton

(3) Sania Mirza — Go’f (4) Adhinav Bindra — Shacting

(5] Vishwanathan Anand — Chess

Which of the following awards is given for exemplary contribution in tha area of science & techrology 7
(1) Arjun gwa ol {#) Kalidas Samenan 13 Dronacharya Award
{4) Daca Saneb Phake Award  {5) Shanti Swarup Bhatngar Award

¥irhich o the following terms is NOT used in bankingfnance ¥
{1) Public Debt (2] Flasma (A} Juinl Venture

(1) Ma! Demand & Time Liability (3] Treasury Bil

Wha amiong e lollowing was awarded Sahitya Akademni Award for the yaar 2011 ¢
{1} Anand Kumar (2] Srilz] Shukla {3 Mrinal Pandey
{4} Su. Venkatesan (0] Vasudewan Mair

Victoria Azarenka won Auskalian Opon Waomen's Single Tann!s Toumam:rd 2072 by defeating ——
{1 Maria Sharapova {2) Vera Zvonareva {3} Svotlana Kuzneteova
(4) Bethznie Mattek Sands {5} Sania Mirza
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TEST H
GENERAL ENGLISH

Read the tellowing passage carefully and answer the guestions given below it. Cerain words f
prrases have been printed in bobd to help you locate them while arswering some of the queshons.

Sheeta and Jairam wera a poor ald couple. Their only possession was one cow,
Once, Jairam fell very sick. Soon al! their money wais used v in buying medicines and thay real sec that
they would have to sall thair cow in ordar to bear the rest of the expenses. Sheala deciced o go lothe
markat and sell the cow, She sel off, leacing the cow by & roge. On the way, she mat four young man.
They were the oesl hulias who enjoyed t2aging and lomenting ok people. Whan they saw ald Sheela
with her cow, they dectded to play A ik, One of hem snelked up behind hes, untied the: cow and tiad
agoalinits place. Sheela fad baen walking immersed in thought, worried aboet Jeiram. Suddenly ahe
heasd agoat bleat pahind her. She tumed around and was surprised to sse that her cow had vanished.
She waz keading a goat to the market. The four bullies cama up o her 2nd said, “Thare is magic in the
air thase days. See, it tumed your cow into a goal.® Poor Sheela walked on wilh the goat Atter 2 little
wnila, the boys untied the goat and fied a rooster i its place. The rooster crowed and Sheela was
surprised again. The goat had lumed into a rogster ! The feur bullies shouled, "tagic inthe air, GrandTa.”
She resumed walking with the ~ooster in low, Afler a few minules the boys crept up again, willed the
rooster ardd tied 2 log of wood inils placs. A few morments laler Shoela realised thal she was dragging
4 loy of wood with & rope, Again, the bullies shouted, “Mapgic in the air, Grandma.” Aller 2 lew minulas,
the boys wntied tha log of wood oo and ran away with it. When Sheela finally reachod the market, she
feuneHhatehe had nothing but 3 reps in her hand, She came back home dejected as she had lost tha
cow, Sha takd Jalram The whoba story, He immediately understood whal had happened. "Make chapatt],
vegetzhle and khaer for lunch tomorrow.” he said. “Cook for atleast four pecple, | will come harme with
some guests, As 5oan as they come yau must say, *| cooked wnat the rabhit fald me. Came, eat wour
lunch.” Leave evanything else tome,” Jairam raassurad her. The nest maming Jairam wenl and barmowed
tewx identical rabbils from a friend. He laft one at hame, tied the cther ona with a string and started
walking towarads the market with it. On the way he joo met tha four bullies. *Hey Grandfather I thay
valisd, “Your wile's cow vanished yesterday, Where are you taking thes rabbd now 7" Jairam sighad
sadly and said, “This rabbit is lilke my son. | obeys evenyihing | say. Bul now [ am sick and we need
oy, 50 1 am going & sall it in the marke,” The four bullies were swprisad whan ihey heard this,
“Does it really undarstand what you say, Grandfather ¥ hey askad, Jai-am repled, “Ccourss il does.
Here, waich me.” Jairam turned iowands the rabbitand said, 'Hop home and {ell Sheela ta make chapattis,
vegciable and kheor for four peuple.” Then he untied the string and el the rabbit hop aveay, He umeo
towards the four boys and said, “Come homa and hawe lunch with me." When they reached his house
his wile welcomod them and said, *f cooked what the rabbit asked me to cook. C-oma, cat yoar lunch.”
Ghe zarvad the chapatis, vegetable and khear to all af them. The lour bulliss wene stunned when they
saw the rabbit sitting in the corner, They toldJairam, “We will buy your raobit " Jairam pratended to think
and said, “It i& very pracious (o me.” Tha four bullies immeadiately affecad him a nighar peice. Jairam
showed some reluctance. The moment he agreed to sell the rabbd they paid him the money and let
wilh the rabbit immediately, The four bulbes decided to test the rabbit's abilties. They had been
biackmailing a landiord for money. Sothey toldihe rabbit, "Go and tell the landiod to bring us the monay
within ten minutas." The rabbit hopped off, They waitad for an hour bul the landlong did not come with
the money. They marched to his house and yelied, “Give us the money and cur mbbit" The landlard had
pean waiting for a chance fo toach these bullies a lesson, He ardered his strongest bodyguard o glve
tham a good thrashing. Blaading and bruised thoy wen? hack io Jalram's house and sald, "o indled
L=, Return aur monay at anca.” Jairam simply smiled and said, "The manay has disappearadl There i
magic: i tha ale”

Why dud Sheela and Jairam decide to sed the cow ¥

[1} They had spen: a8 their monsy on Jairam's 2ckness and needed more money

(2} Sheelawanted to buy a rooster and they nsaded monay [or thal

(3) Theayweara fed up of the four bulies and wanled to taach them a lessun

(4] They wanted to invita the ‘our buifies for inch and nesded monay (o Buying the irgredanis
15) They owed money to tha landlord
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Wiy was Jairam reluctant to seil the rabbit 7
(1) He only pretendad to be reluctant in order to fool the bullies

{2) Howas fond of the little rabbit and did not want to sellit to the bullies
{3) He wanted to gift the rabbits to the landiord

{4) He knew that the bullies would not take good care of the rabbit

(5) He wanied 1o sell the rabbit in the market and get a better price for it

Which of the following maybe an appropriate title to the passage ?
{1) Magic in the air {2) Never sieal a cow (3) The strongest bodyguard
{4} The sman bullies {5} The abedient rabbil

What did Sheola do after reaching the market emply handad ?

{1) Determined 10 aarm monay, she managed (o soll the ropa that she was left with
{2) Sho retumaed home dejected and narratod the whole incident to her husband
{3) She bought two ribbits and devised a plan to get back at the bullies

(4) She went to the landiord and complained about the bullios

{5) She went home and cooked lunch for har husband and harsell

Whal did the four bullies tie to Sheela's fope immediately after untying the cow 7
(1) Akog of wood {2} Arooster (3) A rabbiz
{4) A goat {5) Not mentionad in the passage

Why wera the four bullies surprised when they were talking fo Jairam 7

{1) They knew that Jairam was sick and had not expecied to see him

{2) They had nol expected Jairam to invite them for lunch

() They could not bedieve that the rabbit could understand and obey Jalram

(4) They know that Jairam did not own a rabbit and wore surprised to sea him with one
(5) They could not believe that Jairam knew the rabbit's language

What did the four bullies see when they reached Jairam's housa ?

(1) They saw that twa rabbets ware sitting in the comar

(2) They saw that Sheela had not prepared any lunch

(3) They saw tha cow they had stolen ram Shaala on the provious day
{#) They saw the log of wood they had tied to Shesla's rope

(5) They saw that the same rabbit was sitting in the comer

Amange the following incidents in a chronological order as they occurred in the passage.

{A) Jairam and Sheala needod maney

(B) The four bulies sont the rabbit to the landiord

(C) Sheela cooked chapallis, vegetabla and khear

(D) The four bules tied a log of wood to the rope

(1) ADBC {2y ACDB (3) ADCB (4) DABC {5) DACB

Which of the following is true acconding lo the passage 7

(1) The four boys liked to help old people

(2) Jairam asked Sheck 10 cook lunch for atieast lour people
{3) The rabbit could understand Jalram

(4) Jairam could not trick the four boys

(5) None s true

What did the landlord do when the four bulos went Lo his house and yelled 7
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Choose the word ! group of waords which is mast similar in the reaning 10 the word £ group of words
printact in bald as used in the passage-

Thrashing: {1} Garbage {2) Boating (3] Shouting [4) Warrting {5} Fejertineg
Possession: (1] Condrol (2} Power 15] Custody 14} Keeping 15} Belorging
Vanished . 1) Gene missing 12] Was {ound 3} Was killed

i4) Was et Lehind  {5) Had sxchanged

Chaose the word which is mosl opposite in mezaning Lo the wod printad in bold as uzad in the
L% s AL,

Agreed . (1) Decided (A Arranged (3 Acceplted  [4) Dedlired  (5) Flxed
Dejected - {7 Hanpy {2) Hurried [3) Creatfaller  {4) Slowlky {5) Anarily

Each sentence beow has two banks, each blank indfeating that something has basn amittaa.
Ghoase the sat of wards far each blank which best fits the meaning of the sanlence as a whals.

The students _____ nat r2ach on lira ___ of tha transport strike.

(1) can-as {2} coutd - because (] may - acsount

14} will - despite i5) should - for

Theywera __ to vacabe Inal housa as as pussiole,

(1) asked-soon  (2) orderad - easy 3] shown - sarly (4 told - later 15) found - fagt
Tha teacher theconeeptby _  praglical examples.

{11 ahowed - leling T (2 gava - apaaking (3} Fkad - giting

(4} found - kaoking (%) explairad - quoting

Thie mianager Wil us Rarmesh was very ansious the meeting.

(1) gbout - in i2) that - before 3] like - during () the - for {5) said - alter
She vidd nod sl thal shie ___ attendad the party.

(1) someone - have (2) noars - has (3] hire - ol {4) her - can (5 armyone - had

Read each sentencs to find out whether there is any grammatical arror or iciomatic arror In It The etror,
it any, will e in one par of the sentence. The number of that part Is tha answar, If thare |3 “MNo Erer the
answer 13 '3, {lgnore armors of punciuation it any.)

The shephend counted ! his shaap and found / that cne of / therm 3 missing. e Error

] = 13 i) (5
The teacher were ) impressed oy ber perormance £ ard asked her ta
(1) (2 {3

participate in the competition. Mo Ermor
(4] {3

She asked her/ son for help he: /find 2 placa 1 bury / the gald armameanis. Moy ke
{1 i) (2] i4) {3

The painler was /ask to paint 4/ pichire of the king, [ sitting on his Lhrone, Mo Errar
() (@ ) {4 5}

Tha story was / about haw an / in‘efligenl man had saving / himself irom baing robbed. Mo Error

(1 2 i3 (4 i8]
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Which of Lhe phrases (1), (2, (31 and (4] given below should replace the phrase given in bold in the
following satence o make he sentence grammatically meaningful and correct? 1 the sentence is
correct as il is and 'Mo cormection is required’, mark (5p &5 fhe answer.

They are yet ta decided about buying the new fumitura,

{1) still dacide {2} vet to decigion {3) yetlo decide
4} sl decided {5} Macomection required

Rofan's mither was feed up of his Jazinoss.

(1] fecdupin (2] ted aff (9) feads upaf
{4) fed up ot [3) Mo commection requirao

She was just looking outside the window when a boauwtiful bird caught the eye.

1] cateh the ave {2} eye catching [3) caught her eye
i) catch her eyes 15} No correction requirgd

Thoy sont aut the invitation s 125t evaning.

(1} send out {2) sending out (3} 3ent at

(4} sending in [5) Mo oorrestion reguired

He had to bear the brunt of his father's mistakes.

{1} bear the burnt 2 bear the bums [3) bear a brun
14 bear and burn {5) No comreciion required

In the following passage here are blanks, each of which has been numbered, These numbers are
printed below the passage, against each, five words are suggested, one of which fits the: blank
approprigtely. Find out the apprapriate word in sach case.

Empcrar Akbar was fond of (71) tricky questions to Birbal, One day he askad Birbal what he
would {72) i he were given a choice between justice and a gold coin."The gold coin,” said Birbal, Akbar
was (73} aback. He had known Biroal formany years and he knew that Birbal was a just person. Then
i ol he choose the goid eoin, “You would prefer 4 gold coin 1 justice 7° he asked, increduloushy.
“Yas," gaid Birbal, The olher cowrtiors were amazed by Birbals (74) of idiocy, For vears they bad besen
tnying to dizeradit Birbal inthe emperor's aves but without success and now tha man had gone and (75}
it himself ! Thay could noi beligva their good fortune. | would have been dismayed if even the lowlisst of
rmy servants had said this.” confinued the emperor. *Bul coming from you i§'s shocking - and sad. | did
not (76} you wera 50 debasedl | never expected this from you, How could you bz so shallow 7"

One (77) for whet one does not have, Your Majesty [° said Birbal, quietly. “You have (78) to
it that in our country jusiica is available to everybody, So as jusiics is afrezdy availabielomz anc asi'm
ahvays (78] of money 1 said [ would choose the gold coin.” The emperar laughed. He thought
hirmselt, ‘1 should have known thal Birbal would come up wilh a witty reply as always.' He was so
pleased with Birbal's raply that he gave him (80} one but a thousard gold coins.

{1} showing {2} asking {3} naming i} finding [5) telling
{1} lnak i) said (3) think (4] choose (5} tind

(1) pushed 12) fallen (3] puilad 4] sam [5) taken
{1} ides 12) display (2] raply {4] place 15} showing
{1} speak 12} thoughs {3 done 1) creale {5 ok

{1} felt {2) said 13) know {4) accapt {5) saw

(1] asxs [2) chonzas ] look () find i3] wish

(1) sure {2 put (3] sneen (4) saen I5) mace
(1) no {2) rich i3] shart {4} poor i5) plenty

(1) bui (2} rl (3) and {d) s0 {B1only



TEST il
QUANTITATIVE APTITUDE

Q.8195.  What valus shoudd come in fhe place of question mark [7) in the following questions

Q.81. 6+ 366 +265+036+3.0=1

(1) 4422 (2) 77.22 {3) 7402 [4) 4722 {5) Mone of thase
0.82. 2N 44 15=7

(1) 69 (2) 55 (3) 63 4y 7 {5) Nope o thosa

5] 1 a8
.83, 4E+?E"—5ﬁ=?
10 20 o o20 10

(1) 253 @65 @) 253 @) 633 {5) Mone of thesa

21 17
Q.84 Y3 4 I T =4045

{13 202 (2) 218 {3) 233 (4 227 {5) None of these
.85, 83% ol 2350 =7

(1] 15085 [2) 1860.5 {3) 1008.5 (4h 1590.5 (5) Monc of theso
0.86, Jlogs +3= (%)

(185 (2) 8 i3 3 (4) @ (5 4
Q.87. 96+32H5-H =7

(1) 223 {2y 225 {3) 229 [4) 221 {5} Meane of Hiese
Q.28, 74+35={7F-8

(1) 1428 (2) 1349 {3) 1463 £y 1476 15) faons of these
.89, Jezey =7

{1 88 {2) g7 {3) 93 (4} 9 {5) 83
Q.90 (B3F (122 m 7

(1) 3528 {2) ass2 (3 3582 {4) 3825 {5) Nore of mase

4 3 3
0.91. 1§+3§=?-4ﬁ
7 7 ) 9 N

(1) 855 [ 7 (3) 935 ) 735 {5) Moae ol these
.oz, 171944+ 7 =161.5

{11 8 2 6 37 4z {5) More: f thesa
Q.8a, 1798+ 31 7=348

(1) 3 2] &6 {9y 4 (4) 5 {3} None of these



Q.94 (9.8 % 2.3 + 4.£6) 53 = (3)°

i} 3 (2 9 {3 5 4) 2 {5} Monz of these
(.95, 439% ot 600 + 7% of 200 = 399

1] 45 (=) 41 {3) 42 (4) 47 i8] None of these
Q.86 What will be the compound imlerest on a surs of T 7500 at 4 p.op.a in 2 years 7

1) TEi8- 2 2 B2~ (3} T g2/~ (4 ¥ 506" 5 TE21~
a7, I e many differant ways can the lefters of the word 'CREAM' be arranged

{1} 720 (2} 240 (3) 350 {4y 504 iz} Nome of thasa
(.98, The clrcurmterenca of a circle is 702 metars, What will ba s radius ?

{1) 120 meters {3) 133 metors (3) €6 melors [4] 136 meters (5} Mone of theso

.94, Cost of 36 pens and 42 pencils is ¥ 4605, What is the cost of 18 pens and 21 penciis ¢
{1} 2 230~ [2) ¥ 2005 (3} T 302~ 14) T 220/ {5] None of thesa

Q.100. Tne ratio of the ages of & and B seven years ago was 3 @ 4 respectively. The ratio of their ages nina
years from now wilk be 7 : 8 respectively, Yhat Is B's age at prasent 7

(1) 16 years (2) 19 years (3) 28 years [4) 23 years (5] Mone of these
0.101. In by many years will £ 4600 amount to T 5428 &t 3 p.c.p.a simpke interest 7

(1 3 2} 5 (3 6 4) 4 {5) None of fhese
Q.102. What will be the average of the followings sot of scores 7

39, 84, 44, 98, 30, 10, 58

(1} 82 (2) &8 13 75 4} 52 {5) 58
4103, The: sum af three consecutive odd numbers is 13839, What is the largest number 7

(1) 453 {2) 459 {3) 457 {4) 451 {(5) Mone of these

Q.104-106.  Sludy the information given below and answer the questions teat folfow

An article was bought for # 5600, s price was marked up by 17%, Thereakter it was sold at a discount
of 5% an fhe marked price.

Q.104. What was the marked price of the articlz 7

(1) T 6207/ (2) ¥ 82420 (3) T 8202/ () T 6192 (50 T 6272~
Q.105. What was the pencant profit an the transaction 7

{1) B.8% [2) 6.3% (3] 6.4% {4} B [8) 6.24%
{Q.106. Yithet was the amount af discount given ¢

(1} T 3196 (2} T 3036 (3) 7 3063 () ¥ 3186 {512 3169
Q.107. Tha areg of a reclangle is 1209 square meters, Iy length measures 39 meters. How mucn is ifs

penmeler 7

(1) 122 meters (2] 134 maters (3] 148 metars  (4) Tdd meters (3] Mong of these
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Soudy thie toliowing graph carefufiy and answer t-e guestions that follow

The graph given below represents the number of users of two broadband services
Aand Bacross Goltiess PG R, Sand T

200

oo

&0

YWhat iz the total number of users af branc B across all fve cilies together 7
{1} 270 {2y 3007 1) 200 (4} 2Hil {5) Am

Thie number of users of brand Adn city T is whiat percent of the numibser of wsers of brand Bin city O 7
{1} 150 (2} 110 (3} 140 {4) 180 (3} 120

Whal is the awerage number of users of brand A across all five citics tagether 7
(1) 560 12y 570 (3} 980 {#} S&0 {5} 850

VWhat is the difference bebween the tofal number of users of Brand A and B together in city R and the
total number of users of brand Aand O togethar in aty 7
(1} 140 () 14l {a) 130 {4} 150 {5) 160

Wiial is the respactive ratio of the nurrber of users of brand Ain city P o he namber of usas of
brand Bincity 3 ¥

1)5.7 (2 4.7 {1125 {4)3:4 (5} 56
21 anicles were bought for T 6531 and sald for T 8954, Haw much was the approximate profit
percentage per article 7

(1) 55% (2] 43% {3) 5% (4) 49% 15 61%

A enc B begather can complete a parficular tasion 8 days. if B alone can comalete the same teshin
10 days, how many davs will & take to complets the task If he works alone 7
(1} 25 (2] 36 {3) 40 {4} 32 (8] Mone of these

The cosl price of an arficleds ¥ 1700. If it was sold at a prics of ¥ 2006, what was the parcentage

profit ar the transacton
{1] 18 {2) 12 {3) 10 [4) 14 4] 23

Wha should come in place of the guestion mark (1) in the following number series ?

141 2 6 7 10
(1) 74 (2) ad {3) 100 (1} 20 {5) Mone of these

T8 16 43 7 232
(1) 204 (2) 107 {3y 112 [4) 89 {51 More of these

4 13 17 7 30 3B
{1) 29 (2) 21 {3) 26 4) 19 {5} Mare of these

QB2 G477 952 B¥Y B2 7
(1) 7Te ) 87 {3y Tha 4; BET 18} Mone of hese

41472 5184 576 72 & 7
(1) O (2) 9 (31 4 & (5) Nrne nf these
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TEST IV
REASONING ABILITY
Following quastions are hased on five wonds givan below -
YWIT BAR  LUBN ELF  TOP

(The naw woros formad after parlamming the menticned operations May or may not recessanly ba
meaningful English words)

It in 2ach of the words, all the aiphabets are arranged in English alphabetical order withir the word,
how many words will HOT begin with a vowe] 7
(1} Mone {2} One (3] Two (4} Three {5} Morathan ihree

How many betters are thare in the English alphabetica’ senas betvseen sacond letter of the word
wihich is second fromn the right and the third keter of thie waord wiich is third from e et ol the given
wiords

(1) One (2 Twio (3 Three {4} Four {5 Five

Itin garh of the given words, esch of fhe consonants is changed to previous letter and aach vows! iz
charged to next leder in the English alphabefizal saries, in how many words thus fomed will ne
woweets appear ?

{1} None {2} Ore {3) Two {4) Thraa {5} Mare than three

If thi last alphabet in each of the words is changed 1o the nexd alphaket in the Engllish alphabetical
oroder, how mmany wards having lwo vawels (same or different vowelsh will be formed 7
(1) Mone 2] One {3 Two (4} Three (5) Four

If the given warcs are srrangec in the arder as they wouid appear in a dictionary from lsft to ighd,
which of the following will be fourth from fhe left 7
{1) T {2) BAR {3) UAN (4) ELF (S} TOP

Veena walked Sm towards north, took 8 18 twm and walked Ym. She took & left tum again and
walked Bm ba‘ore taking 2 left tun and walking m. She then tock a final loft wun 2nd walked 1m
betore stopping. How far |5 Vieena from the staring point 7

{1 3m 12) Bm 1% 4m ] 2m {5 Tm

In & certdin coue IDEAS is wiillen as HEDESR and WOLILD is wrilker as WETMC, How will RIGHT be
written in the =ame code ¢
{1y CJHIS {2) QJFES {3} SHHGU 4y CJFIL [5) QUFIS

Study the following information to anawer the given guestion,

Amongst five frisnds, A, B, C. D and E. each baught a maobie phang for a diferent price. A paid moe
than bath G and £, Cniy B paid more than D. E did not pay the mirirmum ameount. E peid 8,000 for the
priane

Whieh of the following is true with ragard 1o the given information ?

(1] Only twa peaple paid a price less than the price pald by B

(2) E paid more than G and B

[3) Mo one paid more amount than that paid by C

() Amongsl the five friends, C is mos lkely to hawe paid T 9,000 Tor the mobile phone
15} None istrue

JF D paid % 17,000 more than the grice paid by E, which of the following cauld possitey the 2mount
paid by A7
(1) 35,000 [#) ¥ 16,0010 [3) ¥ 75N (£ T 26,000 (58} 76500

Who paid the third highast amavnt for the mebile phone 7
(1) A () B (3 < (=4 D (51 E
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in each question bekow are twothres statements followed by wo conclusions numbered § and 11, You
have toaks the teodthres given s1alements (o be tue aven if they sesmto be 8t vanance rom conmonly
known fzcts and than necids which of tha given conclusions legically folliws tram the given stalemants
disregarding commanly known tacts.

Gore answar (1) fonly conclusion 1 follows,

Give anzwar (2} il anly corchusion I follaws,

Give anawar (3] If either conclusion | of conclusion |1 follows.
Give answer {4) if neither conclusion | nor conclusion 1l follcws.
Give arswer (5) if bath conclusion | and canclusion 1l follow.

Statements @ All kites are birds. All aéroplanes are kites. No bird is a fish.
Conclusions © L. Mo fish iz a kite.
IE. All apropfanes are birds

Statements . Some wires are fires. All fires are tyres.
Conclusions ;1. Atleas! some tyres are vanas,
Il. Some firas ara definitaly not wires,

Statements : Mo cllpIs a pin. All badges are pins,
Corelusiong @ 1. Mo badgs is 4 clip.
Ii. Al pins are badges.

Statesnents Mo colour is a paint. No paint is a brush.
Conclusions @ 1. No colour is a brush.
Il. Al brushes are colours.

Statements Al slars are planets. All planets are galaxies.
Conclusions ;| AH galaxies are planets.
Il Al stars are galaxies.

Sludy the following arrangerment carefully and answer the quastions given balow ;
BUBCCECDBDEUBADCBEACDAEBAUACDBC AT

Howe many such pairs of alphabets are there in the series of alphabots given in 8OL0 (Ao E}in tha
above arrangement eact of which has as many letters betweean them {in bath forward and backward
direglions) as they have between them n the English alphabetical series 7

(1) Mone {2} One 3] Two {4) Three (8) Wiore Tan three

Which of the fallowing is the eighth to the left of the twentieth from the left end of the above
arangement 7
(1) C {2) E 3 u 4 B {s) A

How many meaningfu’ words can be farmed with the alphabets which are first, second, fifth and sidn
from the left end of the above arangement 7

{1} Nene [2) One 3y Two (4} Three (5) Maore than three

Howr many such consonants are there in the above arranggment each of which iz immediately
preceded by & vowel and aisn mmediataly followed by A corsonant 2
1) One 3} Two {31 Thres 4y Four () hore than Four

I all Ag ana dropped from the above arrangomet, which of the following wil be elaventh from the

right end of the above arangement ¢
(1 E 2 < {3 D (41 U 0y fuone o these
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Study the follpwing information to answer the given guestions :

Eight peaple are sitting in two parslie! rows containing four people 2ach, in such a way thal
there is an equal distance between adjacsrt perscns, Inrow-1 P, Q, R and 5 are sested (but nol
necesserly in the seme order) and all of them are facing south. inrow-2 A, B, C and D are sealed (bl
rot necessarily in the same order) and all of tham are facing noeth. Tharsfore, in the given seating
arrangomaeit cach marmber seated in a row faces another mermber of the other row.

R sits second 1o the right of 2 A i3 an immediate nelghbour of the person who faces B O sils
second w0 lefl of the person who faces A, Only one person sits between B and C. C does nat face P C
goes not sit ar any of the extrame ends of the fine.

Four of the following five are alike in a ceftain way based on the given seating arrangemeant and thus
form a group, Which is the one that does not befong to thal group 7

(1A i2) P {4 H (@) B i5) §
Who amongst the folbowing faces B ?
i) P 2 aQ 3 R 4 8 {5) Cannot be determined

Which uf the fulluwing is true regarding 5 7

(1) 5 sits exacty batween F and &

(2) 5 sits second to left of 3

(3) F iz an Immectaie nelgibour of 5

{4) Dls ar Immediate neighbour of the person who faces §
(5) Mane i frue

Wha amnngst the fallowing faces O 2

(1) A B (I 4) D {5} Cennol ba detemined
Who amongst the folowing faces the person who sits-axactly between B and C 7
(1) P 2y Q @R [4) 5 15 Cannot be determined

Each of the questions given below is based on the glven dagram. The diagram shows three figures
each representing Enginesrs, MBA degrae holders and Bank smployess,

A ++ Bank Emgroyess

G -+ Emginears

= MBA dagrec holders

Which of tha following doss the group B represent in the abovs diagram 7

(1) Al guch enginesrs who are not MBA degres holdars

(2) Such bank cmployees who are enginec:s but not MBA degroe hofders

(3) All such engincers who ane MBA degree holders but zre not bank employess
(4} Al such MBA degraa heldars who are not hank employeas

(5 Al such bank employess who are enginsers as well MBA degrae holders

Which of Iha follawing groups reprasents ail such Bank employess who ane not MBA dagrae
hcidars ?

(11 GAEandC (2) A,EandC {3 Aand E [ Onby A {53) Aand C
Which of the following groups represents all such persons who are MBA degres holders but are

nailbwer enygnears nos bank employecs ¥
(1) Cnly G {2} Only D (31 Dand G (<) OnlyC {2) Mot represznted in the diagram

Which of the foflowiny represents such englneers whe arg MEBA degres Biolduzes Ll ol ank
empioyaes ?

{1} GandB (2) Oniy F {3 O 4 G [5) Mone of these
Which of tha fallowing comectly represants siach angineers who are neither bank employees nor MBA

degrae hdoers 7
(1) Cry G (2) Cand B {34 Aand D {4y Cand G {5) Cnly
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TEST V
MARKETING APTITUDE/ COMPLUTER KNOWLEDGE
Karketing is the function of

{1t Orly Szles perzons {21 Orily counter stab (3) Only qualified persens
{t} Top Bosses (50 A collective funclion of al staff

Theg parfarmandce Of 3 salas perscn dapends on ——

(1} Ability and willipgness of the sales parson (2} Incentives paid

(3} Siza of the zales team [4) Team lzadas attiude
(5) His agyressive nalure

Good marketing sfralzgy envisages yood and proper-
(1) Product distribution [2) Metworking of branches {3) High Pricing
(4) Placement of counter staff (%) Relationship management

Service Marketing 15 resorled Lo in
(1) All MNCs (2] ATl production houses
(3) Incustial danits (41 Insurance cnmpanies Bnd banks
[3) Fishmzrkets

Customisation results n ——
(1) Customer et [} Customer retention {3) Customer complaints
[4) Better Balance Sheat figuras [5) Better tachnology

Curranl Accounts are basically meant for
{1} Investment purpose {7} Savirgs purpase {3} Identity purposc
i4) To earn Forsign Exchange (5] Day-ta-day needs of one's business

The sole aim of marketing is fo
1] Improve the Balancs Sheet figures {2} Increase recruitment
i) Increase profits {4 Incrcase produciion
(5] Increase oranch network

Aggressive Markating & nacassiteted due to
1) Globalization (2] Irersascd competilion (3 Irwzreasad producton
i4) Increased job opportunities  (5) Increased stafl

Valye added sarvices means
(1) Substituted products (2] Highy valuabva products
{#) Cld products (4] Exlra servives in addition to existing cies

{5) At par servicos

Savings Accounts can be openod by
(1) Al individ uals fulfilling KYC norms i2) Alltax payers only
{3 Al Individuals above the age of 18, (4] All busmassmen anly
(5) All studants below he age of 18.

The best promational kol in any markating is .
(1) Pamphlats {2) Newslettors {3 Wiord of mouth pubBcity

14) Regivnal Adverlsamants 15) Vral marketing

Market information means ]
(1) Knowledge leve’ of DSAs (2] Information about marketing staif

{3 Information regarding Share market 4] Knowledge of ralatad markois
{5) Latest knowtedge about technoiogy progress

Efficiont marketing style requires
{1} Pruger planning i3 Goocd debating skillz (3} Arogar staff
{#) Knowbedge of many languages  (5) |gnorant customors
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The target growa for SME [0ans ig =

(1) Al 5515 (2) All Callege Prolessors () Al studants

(4] All Murses [5) All 3alafed porsons

Market segmentation means grauping ————-

(1) The sskes toams (2] Tha customers as per thelr nesds and tastas
(%) Seling arangaments (4] The counter staff

{§) The back-office staff

Target group rmeans

{1) Al employars {2) Al sales pergons {3) Intendec buyors
14] All industrias 15) Call Centrs persons

SME mwans

(1) Seling and Marketing Emplovess [2) Sales and Mergers of Entilies

{3) Smal and Micro Erfities [4) Small and Medium Enterprises

12) Sales Performance Measuremeant Program

A short term loan is repayable within
{1} 20 years {2] 3 yoars

(3} As pertha borowers' wish (4] Az per the gurardor's wish
15} Thare is no nead to rapay short term loans

“USP" in marketing language maans

{1} Uniform Selfing Fractices  (2) Unigus Sales Parson {3} Unique Selling Froposilion
{4) Unigue Savinos Plans {3) Useful Sales Parsons

An (PO Loan s meant for

{1} Meeling personal nesds 12) For higher educatiun

{3} Menical freatment {4) For starting a new industny

{5) For purchase of shares

Devices that enter information and Ist you communicats with the computer are called ——:
{1} Soflwrare {2} Oulpul devices {3} Hardware
{4} Input devices (&) Input ¢ Output devices

An elzctroniz device, operating uncer tha control of information, that can accepl data. wocess the dats,
produce autoutand stove the resulls for fulure use

(1) Input (2) Compuier {3) Softwars {4} Hardwars i) tone of hese
Wihat i5 the funetion of the Gentral Processing Linit of a Computer 2

(1) Creatas invoices (2] Performs calculations and procassing

(%) Dedoles Data (4) Corrupts the dala (5) Mone of thess

Al the characters that a davica can use is callad its 7

{1) Skil Set () Charactar Alphate: {3) Charactars Codas

{4) Kpyboard Charactors {5) Charzcter 5ot

H yaur computer keaps rebaoting itseff, then it is {ikehy that —-—

(1) 1t has a virus {#) It does not have enough memaory

{3) Thera is no printer {4) There has been a power surge

(5) It neads a CD-ROM

What does RAM stand for 7
{1} Aead Access Memary {2) Head Anywhers Mearmorny (3} Ranclom Sre:ang Mesnony
{4} Random Access Module {5} Rendom Accesa Memony

Whazt type of device is a2 3% inch floppy drive ?
(1) Input 12] Cutpat () Softwara (4) Storage 3} Mone of theses
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What utility do you use to transter files anc exchange messages 7

(1] Web browsers (2) wiaw (3) Email

(1) Hypertaxt (5) search engines

Which unit controts the movement of signzls between GPL and 10 ¥

(1) ALy (2) Control Lnit (3) Mermory Unit
(4} Secondary Storage (3) Mone of thege

The three main parts of the processor ang ———

(1) ALY, Confral Unit and Registers 2pALU, Control Unit and AAM

{3} Cache, Control Unit and Registers (4] Controd Uniz, Registers and RAM

{5} RAM, ROM and CD-ROM

Which of tFe fofowing memary chip 1 laster 2
{1) Them is no cortainty {2) DAAM (3} SHAM
(4) DRAM is faster for larger chips  (5) None of these

Wihich of the lollowirg voes nol relate Lo npol Uit 7

(1} It accepts data from the oulside world.

(2) It converts data into binary code that is understandable by the computer

(3} It converts bnary data into the human readabée lorm that is unoerstandabla tc the usars.
{4) It sends dala in binary form to the computer for fudher processing

(5] Mone of these

Which of the following terms is just *he collection of notworks that can be joine together 7

(1) virtual private netwmark (2) LAN {3) intranet

(%) extranat (5] intema:

Tangitle, physical computer aquipment that can be seen and touchad Is called ——

(1) hardware (2} sottware (3] slorage (4] nput'output {5} None of thess
Which of the following is the second largest measuremeant of RAM 7

1) Terabyie I2) Megabytz 3] Byta [4) Gigabyie {5} MegaHertz
\What resides on the motherboard and connects the CPLU to other components on the motherboard #
(1) Input Unit [£) Systern Bus (3 ALY

(4) Frimary Memary {5) None of these

By firmware we enderstand

(1} physical equipmeant usad in a computer systemn

{2) a set of instructions that eawasa a romputer to perform one or maore tasks.

{3) the psoole invalved @n the computing process.

(4) a set of programs that is pra-instalied into the read onky memany of a computer ourng the time
of manufaghuring.

(8} Mone of these

Supercomputers
(1} are smaller In sl2e and processing capabliity than malnframe compuiers
(2} are common in majonty of Nouseholds

(3 contain thousands of microprocessons

{4 ara rarely used by researchers due to thedr lack of computing capacity
(5 are of the same size as laptops

1 he cost of 4 given amount of computing power has __ dramatically with the prograss of
computer technology.

{1} stayed the same [2] changed propodionally with the economy

{3 increased 4] fuctuated

{5) decroasad

The basic computer processing cycle corsists of ———

{1} input, processing, and cutout (2) systemis and application

(3 data, information, and applications (#) hardware, soflware, and storage

(5! Mone of these



